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Assignment: Approximate Numbers and Change of Units

Question 1. {3 marks) How many significant digits
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Question 2. (I mark) How many significant digits Are in 2.410 + 1030, why? .
21030 we losk al The leasT preets £ nymbev

Question 3. (I mark) Round w )/ttl/t &A&:wy lo 30 ) X
a. 2342223.32 to 2 significant digits. T"Lﬂﬁtv ‘51‘9- 7['3 ¢
b. 0.034200 to 2 significant digit.
@) 2300000
b) 0.03y4

Question 4. (3 marks) (use the correct number of signigicant figures)
a. 435.2234-+2316.70 = 278 1.92
b, 234-262 = 04
c. 11.7x132x 167243 = 2530
d. 34642212 = [6 3
e. (32.214+1.235)x22 = 74
£ (2373x34)-(23.5+2.13) = 795, 7%...
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QuestnonS (2 marks) Convert 12550 square feet to . 2 — .
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Question 6. (I mark) Convert 21 000 psi (Ib/in?) to MPa.
a1 000 b . q%ﬁ)( "‘, w& cm) ( = 140 Mbe.
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Question 7. (2 marks) Convert 65 miles/hr to

a. km/hr a_) 65 % lG(lVM = 10 x [@ km/lnr
b. ft/s v t wri
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Question 8. (/ mark) Ccnvpglit\”’ 144 ft-1b bending moment to N-m (Newton meters).
sl 30.5¢w . | v .
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Question 9. (I mark) Convert a load of 22450 Ib into kN (kilo Newtons).

22450 1b. 445V . 1K _ - 99 99 KN/
TE 7

Question 10. (7 mark) Convert a load of 460 kN/m into Ib/ft.

WO kA » 10 . Ik 1w | 305cun 2 =) clbit
W K 445 100w TTH 34

Question 11. (I mark) Given 250.1 Ibs/ft® convert to kg/m3.

3
WO W, CuSlk , (,,q ”( zo.om) = 4002 Ko
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